
14 Aralık 2013 Cumartesi Yarış Sonuçları Adana Hipdromu (19. Yarış Günü)

4. Koşu  Saat:19:00 ŞARTLI 5/DHÖ 58 kg, 1700 Çim

İkramiye 1.) 31.000 t 2.) 12.400 t 3.) 6.200 t 4.) 3.100 t
Yetiştirici Primi 1.) 4.650 t 2.) 1.860 t 3.) 930 t 4.) 465 t

Forma S At İsmi Yaş Orijin(Baba - Anne) Sıklet Jokey Sahip Antrenörü Derece Gny AGF St Fark G. Çık. HP

1 AHUSENKIZ(15) 4y k k TAMERİNOĞLU - AĞBİLEK 50 E.TUNÇ MEH. KATAR C.ÖZBEK 1.55.01 8,05 4 3 Boy 58

2 ÖZKURUŞ(13) 4y a a ŞÖVALYE - OYUNCU.20 55 G.KOCAKAYA HAS. ARSLAN M.ARSLAN 1.55.54 1,50 10 Boyun 101

3 UÇANBİR(9) 4y k a KAZAKBEY - MESRURE.50 54 H.PARILDAR M. EMİ. ALAK MAHİR DEMİR 1.55.62 9,50 13 Baş 59

4 ÖZTUNÇ(3) 4y a a BOZOK - OLGU 60 A.ÇELİK RAG. ÖZKUŞ Ş.AYDEMİR 1.55.65 4,90 11 68

5 ATEŞKARTALI(1) 4y k a SAĞANAK - CANÖZÜM 56 AH.ARSLAN MEM. ATEŞ F.GEYİK 1.56.09 8,50 5 76

6 OSMANBABA(2) 4y a a EĞRİCE - BEGÜMKIZ 56 V.DEMİR DAV. KAYA HÜS.KAYA 1.56.26 7,55 6 80

7 AYGÜLÜM(11) 4y k k TAMERİNOĞLU - İLTERKIZ 56 MAH.TURAN ÖME. ALTIN Ö.ALTIN 1.56.43 38,65 7 7 boy 63

8 ASİLANECAN(14) 4y a a DAĞHANBEY - LATİFEGÜL 54 A.KURŞUN MUZ. CAN M.MEHMET İNAL 1.56.60 4,50 1 65

9 HİSARGÜL(12) 4y k k HİSARHAN - CAHİDE.75 51 R.CİHAN MUR. AKÇA F.TAŞ 1.56.75 23,20 14 71

10 İLKAYIM(4) 4y a k EĞRİCE - CANSEBİNA 55 GÖKH.YILMAZ MAH. TEKİNALP A.TEKİNALP 1.58.56 14,95 9 5 boy 68

11 BORAYEL(5) 4y k a SEMİH - NURÇİN 54 F.R.BEBEK İSM. HADİOĞLU F.KİP 1.58.89 44,95 2 53

12 YENİ BEN(10) 4y k a RİKARDO - ERGÜLÜM 58 Ö.YILDIRIM ŞAH. BUCAK A.BAŞYİĞİT 1.59.26 5,15 8 2 boy 71

13 RAFET(7) 4y a a İBOCAN - NEZAHAT 58 U.TEMUR MÜC. YILDIZHAN E.KOÇAK 2.00.79 34,45 12 53

14 SEÇKİNTAY(8) 4y d a EMAEL (PL) - KEMİYETÜLIRAK.64 58 İ.H.KETME İ. HAL. ŞİMŞEK C.ÖZBEK 2.00.80 23,95 15 71

15 CESURKAYA(6) 4y k a EĞRİCE - POLKA 58 N.ŞEN KAD. KAYA K.YÜCEDAĞ 2.01.19 42,40 3 52

GANYAN(15) :8,05 t, İKİLİ(13/15) :8,55 t, SIRALI İKİLİ(15/13) :20,40 t, PLASE(13) :1,05 t, PLASE(15) :1,15 t, PLASE İKİLİ(13/15) :8,90 t, PLASE İKİLİ(9/13) :14,50 t, PLASE İKİLİ(9/15)
:33,40 t, TABELA BAHİS(15/13/9/3) :79,36 t, TABELA BAHİS SIRASIZ(15/13/9/3) :1,54 t, 2. ÇİFTE(3,9/15) :30,80 t


